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I 1 mwn: miscellany re: mman

a

preparation of i 300 “rubs” (rubbing back and forth) and 500 “kicks” (with heel of hand)
i jp”m these are done to wheat kernels (part of threshing)
ii o1 7. done to dough (per xn’2 - only to dough)
1  note: they would rub once, “kick” twice; then rub twice and “kick” three times (each set 100x)
(a) question (77p7” 7): is rubbing back and forth considered “1” or “2”? yp'n
number of loaves:
i agreement: onYn 'MW and 3" »n’an — 12; 7N »nY and 7’11 mYn - 10
1 p2977 on’ stated explicitly (v. 1)
2 7 mar inferred from ian onY via pn::pn (vv. 2-3)
3 mnpns. per explicit verse (see ahead, 77b)
4 r mbm which is alluded to in n7in "nY (v. 4) — vNSY 2> extends to 1N MOV
ii  disagreement: all others
1 w10
(a) Inferred from: nTin »nn%
(i) Challenge: why not infer from 0290 on% and have 12 each?
(if) Block: nam1 nmn has more points in common with nTin »n? (individual, voluntary, has oil, can be in-
validated by overnight lapsing, not brought on naw nor nxmva)
1. Challenge: nn19n nnY has points in common as well (DwTp *wTp, has N1y, not ynn, comes for itself)
2. Answer: "N 'nn% have more points in common
(iii) However: if we accept the principle that that inferred via w"1x (3”3 'n»an) can then be a ar pia:
1. Then: nmn »nn? still shares VYT (not 3"9), brought entire, %9 applies, not brought nawa nor NkmMYV1
2. However: 3”3 'ran have more points in common (add 1wy, 53, nwan, on the fire to list above)
a. Nonetheless: inferring from 0110 is a more compelling connection
2 »”1 12 —he may infer from 3”3 >n’an (as above, if he maintains that that inferred via w11 can become ax 112)
(@) Or: he sees the commonality of 0wTp wTp as more compelling and infers from onan on%

II  9%mw: if he makes nTin "nNY into 4 loaves (1 large loaf of each kind) — valid

a

b

Challenge: there is a requirement of 40 loaves
i Answer: that is ideal, but dispensible
Challenge: he must give 1 of each set to 02 as NN
i And: can’t be torn off as it must be a complete loaf (127p Y91 TNR)
ii ~ Answer: he separates it at kneading (i.e. end up with 8 loaves; 4 large and 4 small for n»n3)
Challenge: ruling that all mnin made of larger or smaller numbers (than the required — see above) are valid
i Except: D180 onv 3”3 'man ,1°n ,nmn nnk
1 Answer: 9R1nWv follows alternate opinion that limited invalidity to 3”2 ’r»an and o280 onb
w2177 /7. if he makes 71n narn nmn as one large nyn — valid, per n¥n (v. 5 — written 7on)
i Challenge: Y81mw allowed for nTin "nY to be one per set — and there it is written plene (v. 6)
it Answer: Yrnw disagrees with x110 7 about this
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II "y mwn: ratio of original grain to offering
a  7ny: 3 pro (1 ner - 10 pwy) > 1wy is offered (10% yield)
i Reason: it is barley and new grain, lots of bran
b onb%onw: 3 pro > 2 mwy (20% yield)
i Reason: even though it is wheat, since it is new, more bran than usual
¢ D9n ond: 24 pro 224 mmwy (30% yield)
i Reason: since it is wheat and v, not a lot of bran
d a7z if they ever mis-measure the 1wy, invalid
i But:if they use more or less original grain it is valid
1  Aslong as: the end result is proper
IV 1 mwn: sifting these three public mnin
a  7mp. 13 siftings
b onb7onw 12 siftings
¢ oo ons 11 siftings
d  Dissent (¢”): there was no set amount, as long as fine flour was produced per v. 1 —n%o
V
a  Sieves:
i p’m they would use a narrow and gross sieve, alternating them to rid the fine dust and bran (per ")
ii ~ »7an7 they had 13 sieves, each finer than the previous one and would sift “in order”
iii @7 there was no set number, result of fine flour was the only concern
b purchase of flour for 22977 onb: they would buy flour per v. 1
i However: if the 7an bought unmilled wheat — valid
1 But: only for mnian onb (per nmy)
2 Reason: re m1an onY, there is a concern of thrift (as it is 24 NTWY and bought every week)
3 Allusion: that "n is concerned with »1’s financial weal — v. 7
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